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1. Answer any five of the following questions :  

4×5=20 

(i) Explain in brief perspective of Human 

Geography. 

(ii) What is Possibilism ? 

(iii) What are pre-agrarian and agrarian 

modes of activities ? 
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(iv)  Discuss in brief the spatial 

distribution of SC or STs in India. 

(v)  Write in brief about the other religions 

and persuations in India.  

(vi)  What is demographic dividend ? 

(vii)  Define urban settlements. 

(viii) What is urban sprawl ? 

2. What are the indigenous and derivative 

concepts in Human Geography ? Discuss any 

four indigenous concepts of Human 

Geography.  15 

Or 

Explain human environment interactions in 

terms of human adaptations in hot, cold and 

mountainous environments.  

3. Illustrate and discuss the spatial pattern 

and distribution of languages and language 

families in India. 15 

Or 

Discuss the peopling of India showing Z-

pattern movement along river valleys with 

illustration.  
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4. Critically discuss the demographic 

transition theory of population growth with 

its diagram. 15 

Or 

Illustrate human migration during modern 

times and write about the spatial pattern of 

international migration, highlighting both 

European stream and African-Asian stream. 

5. Give a detailed account of the evolution of 

human settlements. 15 

Or 

Explain the types and patterns of rural 

settlements. 

6. Answer any two of the following questions in 

about 600 words each : 10×2=20 

(i) Write a short note on Neo-determinism. 

(ii) Write the impact of industrial 

revolution on urbanization and post- 

industrial urbanization. 
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(iii) Discuss in detail any five major cultural 

regions of the world. 

(iv) Write a brief note on literacy and skill 

formation.   
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 BGGCT–132 

foKku Lukrd (lkekU;)  

(ch- ,l- lh- th-@ch- ,l- lh- ,e-)  

(lh- ch- lh- ,l-) 

l=kar ijh{kk  

twu] 2025 

ch-th-th-lh-Vh-&132 % ekuo Hkwxksy 

le; % 3 ?k.Vs   vf/kdre vad % 100  

uksV % lHkh iz'u vfuok;Z gSaA izR;sd iz'u ds lkeus vad vafdr 

gSa A 

1- fuEufyf[kr esa ls fdUgha ik¡p iz'uksa ds mÙkj nhft, %  

4×5=20 

(i) ekuo Hkwxksy ds ifjizs{; dh laf{kIr O;k[;k 

dhft,A 

(ii) lEHkookn D;k gS \ 
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(iii) Ïf"k vkSj Ïf"k&iwoZ xfrfof/k;k¡ D;k&D;k gSa \ 

(iv) Hkkjr esa vuqlwfpr tkfr ;k vuqlwfpr tutkfr;ksa ds 

LFkkfud forj.k dh laf{kIr esa ppkZ dhft,A 

(v) Hkkjr esa vU; /keks± vkSj vuqu;ksa ds ckjs esa laf{kIr esa 

fyf[k,A 

(vi) tulkaf[;dh; ykHkka'k D;k gS \ 

(vii) uxjh; vf/kokl dh ifjHkk"kk nhft,A 

(viii)uxjh; QSyko D;k gS \ 

2- ekuo Hkwxksy esa ewy vkSj O;qRiUu vo/kkj.kk,¡ D;k gSa \ 

ekuo Hkwxksy dh fdUgha pkj ewy vo/kkj.kkvksa dh ppkZ 

dhft,A   15 

vFkok 

xeZ] 'khr vkSj ioZrh; okrkoj.k esa ekuo vuqdwyu ds 

lUnHkZ esa ekuo&i;kZoj.k vUr£Ø;kvksa (laca/kksa) dh 

O;k[;k dhft,A 
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3- Hkkjr esa Hkk"kkvksa vkSj Hkk"kk ifjokjksa ds LFkkfud izfr:i 

vkSj forj.k dks fpf=r dhft, vkSj mudh ppkZ dhft,A  

15 

vFkok 

unh ?kkfV;ksa ds lkFk&lkFk Z&izfr:i esa vkxs c<+us dh 

izfØ;k dks fp=.k ds lkFk n'kkZrs gq, Hkkjr esa ekuo clko 

izfØ;k dh ppkZ dhft,A 

4- tula[;k o`f¼ ds tulkaf[;dh; laØe.k fl¼kUr dh 

vkykspukRed O;k[;k blds js[kkfp= ds lkFk dhft,A 15 

vFkok 

vk/kqfud dky esa ekuo izoklu dk fp=.k dhft, vkSj 

;wjksih; rFkk vÝhdh&,f'k;kbZ /kkjk ij izdk'k Mkyrs gq, 

vUrjkZ"Vªh; izoklu ds LFkkfud izfr:i ds ckjs esa fyf[k,A 

5- ekuo vf/koklksa ds mn~Hko dk foLr`r fooj.k nhft,A 15 

vFkok 

xzkeh.k vf/koklksa ds izdkj rFkk izfr:iksa dh O;k[;k 

dhft,A 
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6- fuEufyf[kr iz'uksa esa ls fdUgha nks ds mÙkj yxHkx  

600 'kCnksa (izR;sd) esa nhft, % 10×2=20 

(i) uo&fu'p;okn ij y?kq fVIi.kh fyf[k,A 

(ii) uxjhdj.k ij vkS|ksfxd ØkfUr dk izHkko rFkk 

vkS|ksfxdj.k ds i'pkr~ uxjhdj.k ds ckjs esa 

fyf[k,A  

(iii) fo'o ds fdUgha ik¡p eq[; lkaLÏfrd izns'kksa ds ckjs 

esa foLr`r ppkZ dhft,A 

(iv) lk{kkjrk vkSj dkS'ky fuekZ.k ij ,d laf{kIr fVIi.kh 

fyf[k,A 

× × × × × 

 

 

 

 

 

 


